. < 9
Prochies Exam #3 -CQ
. 2. Given the solid below:
Part A Questions 1106
In the Student.Booklet, darken the letter that corresponds fo your S =
answer. N N
3 i
Each question is worth 4 marks. <
LEFT RIGHT
1. Alinear function fis represented in the Cartesian plane below.
The function passes through points A (0, 6) and B (6, -3). =
N
v ! 5N
\ ‘
10
f
J
Which of the following views is correct?
NA6) A)  Front C) Right
A
5 5 4 B3 2 40 5 N5 6 7 x
4
) B) Left D) Top
3 B (6 -3)
AN
What is the rule of function f?
3 3
f(xX)=—-2x+86 f(x)=6x--
A) fX)=-7 cy f(x) >
B) f(x)=-2x+6 D) f(x)=6x-2
3 3
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3. Consider the following expression:

54 %73 i

56 x7?
Which of the following is equivalent to this expression?
A) 50 73 C) 512 77
B) 52x7* D) 5%x7?®

4. Consider the following expression;
(4y-8)(4y-8)
Which simplified polynomial is equivalent to this expression?
A) 8/-16 C) 162 +64

B) 8/ -82y-16 D) 16y*—64y+64

5. The table beiow shows various measurements of length.

1 0.125 dm
2 0.52 cm
3 0.025 hm
4 125 000 mm

Which of the following sequences shows the measurements in increasing order?

A) 2,1,34 C) 2,4,1,3

B) 2,3,1,4 D) 2,1,4,3
Secondary 3, WQSB June 13, 2018
Cnmnatency 2. Question Booklet (A. B) Page 4

6. A sphere Is suspended in a liquid-filled cylinder.
The radius of the sphere is 3 cm.
The radius of the cylinder is 4 cm and its height is 30 cm.
A random point is chosen inside the cylinder.

)
sl

@ 30 cm

What is the probability that this random point will be Ic
sphere?

cated within the volume of the

A) 3.75% C) 13.2%

B) 10% D) 7.5%

Secondary 3, WQSB
Competency 2, Question Booklet (A, B)
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9. Right triangle ABC is shown below.
Part B Questions 7 to 10 In addition, a line segment was drawn from point A to point D, which intersects segment CB.
In the Student Booklet, write your answer in the space provided.

Each question is worth 4 marks. A
7. Expand and/or simplify the following expressions
3 em 15 cm
a) (—2a+3b)— (4a+5b) b) 3x(2x +5) )
c) 8x3y3 + 12x5y* d) (2a2p*)*
4x3y? B v
C D B
e 16 cm 5]

What is the measure of line segment AD?

8. Given the following inequality: 10. Mr. Terry put on a school musical and would like to know the mean age of the 906 people in

~15x+ 132 -11x-27 _ the audience. The age of each member of the audience was recorded and the results are
presented in the table below. ’
AGES OF AUDIENCE MEMBERS | FREQUENCY
6, 18 1323
[18, 30[ 112
[30, 42] 130
What is the solution of this inequality? ‘ [42, 54] 226
[54, 66 118
Total 006

What is the mean age of the audience?

June 13, 2018 Secondary 3, WQSB June 13, 2018
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11. Super Splash Waterpark

Chris is compéring the two different admission options offered at the new park. Each
option has an initial entrance fee and a certain cost per ride.

Below is the information about each option:

. OPTION A:

The entrance fee when choosing Option A is $28, plus an additional cost per ride. For example,
it would cost a total of $83.50 for Chris to go on 10 rides if he chose Option A.

OPTION B:
The relationship between the number of rides and the total cost when choosing Option B is
shown in the graph below:

Total
cost (5) A TOTAL COST AT THE AMUSEMENT PARK

100
90

(12, 89~

80 o
70 =

60
7 (4,155)

50 L
407
30
20

10
0

0 2 4 6 8 10 12 14
Number of rides

Chris notices that at some point both options cost the same amount.

For how many rides do both options cost the same amount, and what is this cost?

12. Kelly’s Candles
Kelly’s new habby Is candle-making. She wants to make a beautiful assortment of candles.

She buys 5 blocks of wax measuring 1 dm by 15 cm by 50 mm.

50 mm

15 cm

1dm

She wants to make 3 candles, formed in the shape of a cylinder topped by a cone, as the one
shown below.

6 cm

She uses the rest of the wax to make spherical candles. The spherical candles will have the
same radius as the cylinder and the cone.

How many spherical candles can Kelly make?

Secondary 3, WQSB June 13, 2018
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13. Pink Shirt Day

The school’s spiritual animator, Ms. Samantha, is ordering t-shirts to celebrate Pink Shirt Day.
She would like to calculate the total cost of her order, which includes the cost of the t-shirts and
the cost of delivery.

The t-shirt company offers different delivery options for the number of t-shirts per box.

Using the total number of t-shirts Ms. Samantha is ordering, the company presented her with
the following graph of packaging options.

T-shirts per box ’
P (8.45)

(30,12)

Number of boxes X

Ms. Samantha wants to have 15 t-shirts per box.

Each t-shirt costs $5.

Additionally, the company uses the following rule to determine the cost of delivery:
f(x) = 9.25x + 7.50

Where x: number of boxes ordered.
f(x): total cost of the delivery, in dollars

What will be the total cost of Ms. Samantha’s order?

Secondary 3, WQSB June 13, 2018
Competency 2 Student Booklet (A,B,C) Page 8

14. Ms. Greco’s Tomato Sauce

Ms. Greco recently perfected her secret recipe for tomato sauce.

She will be making more tomato sauce, but her current pdt is too small. She is planning to
replace it with a larger, similar pot. Both pots are in the shape|of a cylinder.

The area of the base of her current pot is 208 cm? and its height is 20 cm.

The area of the base of her new pot is 468 cm®.

CURRENT POT NEW POT

Area of the base = 208 cm?
h =20 cm \

Area of the base = 468 cm?

Ms. Greco stores her tomato sauce in jars that each hold 640 ml. of sauce.

How many more full jars of tomato sauce will Ms. Greco be able to fill using her new pot
compared to the current pot?

Secondary 3, WQSB June 13, 2018
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15. Gentille Alouette

The marketing department of the local foothall team is making new flags.
Each flag consists of an isosceles triangle inside a rectangle,

The team’s logo is inside the triangle. The area outside the triangle is blue.

The flag has a total area of (112x*+ 128x) cm?.

The height of the flag is 8x.

Some of the dimensions of the flag are given in the diagram below.

X}
P

I
%

Blue section

What simplified algebraic expression represents the area of the blue section of the flag?

16. Fairserve Dance Academy

Nadia is applying to Fairserve Dance Academy and would

admitted.

like to determine if she will be

Nadia was evaluated on eight dance routines, but was abser)t when her last dance score was

announced. She does, however, know the results of her first !

received the following box-and-whisker plot which represen

seven dance routines. Nadia also

s the results of her eight dance

routines.
Nadia's first seven scores are: 98, 86, 77, 73, 64, 92| 80.
NADIA’S DANCE
64 71.5 78.5 39 98
} 1 } t 1 } } } ]
60 65 70 75 80 85 90 95 100

Below is her latest report card.- Her grade for interpretive danc

eight dance scores.

e corresponds to the mean of her

COURSE CREDIT | GRADE
Mathematics 6 85
Interpretive Dance 5 ?.
English 6 20
French 6 78
Physical Education 3 62
History 4 79

The following criteria must be met for Nadia to be admitted to

Fairserve Dance Academy:

= Criterion 1: Only one of her eight dance scores can be below 68%.

= Criterion 2: Her report card average (weighted mean by credit) must be at least 80%.
|

Will Nadia be admitted to Fairserve Dance Academy?

Secondary 3, WQSB
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< e o
w 1Y - Ll - Solubibn

9’." chice

Part A  Questions 1 to 6 )
Darken the letter that corresponds to your answer.

Each question is worth 4 marks.

1. @ [B] [C [

2. A €1 D] o o
| & [ @ ESERA
3. [A B [C 4
4 A B C N SRS

5 48 B € M
6. [A] [B] [C] #B%

<
=)
<
o
b
-
=
t

(N3t = ST Ak

Part B Questions 7 to 10

Write your answer in the space provided.

Each question is worth 4 marks.

7.

Algebraic Expression Simplified Algebraic expression
a. (—2a + 3b) + {da + 5b) — D, —mh

O T O TAERT 9 aot.
b. 3x(2x +5) é«}ii A

gxdy3+12x5y*t i . A b
4x3y2 k;/} = b A &w:),
d. (2a2b*)* T 3%“;&@
CSgan s, AT [4]3T211]0]

8. The solution is

9. The measure of line segment AD is g:Qf‘i cm.

10.The mean age of the audience is j} ’;E\ years old.

pd
>/ Ly
A )

~

[4]0]

H
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~
. Show all your work.
Y

R

575 = a

) ITCTA = 05 X +ab

cjk :ﬂb

o Plion &
(4,55) & (12,39)

. ®9-55 =
o= FES T = 40

b= Y ~ax,

= 8% — ya2n(u)
= 55 - 17

= 3%

. ;”g& = 4350+ %J

535 +2b = L35 K+ D8

(5% = /1

For g rides both options cost the same Cr.2]40)3224116) 8 | 0

amount: $ é & .

< By 437
- 7;}

Observable indicators
correspond to level

A|B|C|D|E
Cr.3|40 (32|24 (161 8

Cr.4

cr.5 20|16 (128 | 4|0
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Show all your work.

)

L . .

H:L‘»‘"‘ /[E“ﬂﬁ\ \/OGUJV\ME 3&\_0@)?{» G&_}JO—MJ@HQ H } e =
80 wain

5 \f(’(‘hw\ = 5 AbL\
= 5 (1NBI5)

= 13340 C/’VV\S

el &(O -2 QQ_WCLQM

= < Veson v cDQ) = 3( ’Hfg\_ Ar ’(r&\\>
st 5 (’T’T (Hjﬁ _\_ e (Ll\l(é>>
B

- 5 ( I;; N 20%Z>

= > )
=3 231.96)
- [l055.5% or ]

Rupmsireins yng = 3750 - 1055.52 269442 o)

Cenvert dmanasions
10 QU
D Cam

\/EP\LQJUL - Hl“_f_.s

= # Sphang condles
= am(ay 269442
6. 0%

IO C@_J\M@,g

Observable indicators
2spond to level

corre
.. B

c

D

E

Cr.3

40

32

24

16

40

32

24

16

Cr.2
Kelly can make é Q spherical candles. Cr.4

Cr.5

20

16

12

8

8
8
4
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S (\3 )
; LN
Gf | /5\ Show all your work. 4s L
e ) \
(D Cogh ol T shnk :
' 10 1\
Rallemol fnclion é{ z »—é% ) N
‘ AN Y
é:‘ 'V’(f‘“ gg‘fﬂg’éx = 3(45)=3b0 N
HoH Toehato e so(7) 5 360
- : 2 o)
2[g - 2k : <o
\é - = 1 ‘ Yoo
. 9 :
% %:— 15 REJNS9%oN per Lt o
fo MW= 3‘%@ = 2l beles 3
S UV SR o 2 H o 0 e i e PR *3\09/)1‘9%0

losk oy bt = 360(5) Y200 |

@ CJDS\' c‘ré\ OML;}E% R
X)) = ANDK +TD0
= 9.95(a) + H50

{72295 |

Toked Cost = 18300 + 2005

m&qa ]

Observable indicators
correspond to level

A{BiC|D|E

Cr.3|40 (32|24 |16} 8

Cr.2{40 {3224 |16| 8 |0
4

Cr.4
Cr.5

The total cost of Ms. Samantha’s order will

be $ gﬁ O;lq{i\ .

20|16 (12| 8
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. Show all your work.

s &Li s MJ; Vd(&uwe/) Show ali your work.
w K hﬂ-&a@f E)"b b(aoﬁéjé«t (ﬁ% r?ﬂt u'%) /,J Qrae. oh POOF\ . }g[,‘. . [9:%_
9,
(oY(15) 7 30 tw b o= nzxtiisx
L5 ‘ | L _
Sl Vel o bigger B Pagsbase. =[xy 1k)|c
(258 D L
\/%K = T \f'\ oR A’b\m
amoll P ore, By ) C > F(:}]f‘f\@/\/\)l@v/\ ETA %Q'g“(_ &
_— = 422\ v . /
e { mouS on? ) P - (- e e1)
%’ - Bz uled - . = At -( A 12)
= 20% g . } Q= l‘\ L_( “_w,m./ SN
= A Jeows = HROUL - -
v lleo ILOoWo o A*,E b ool + %(\ )
= T ] ‘ ng’( = QK- (4K
o] 2- (51 g Rl
Vi %m&Q P@J\“e 7::{:*“—'——7 %O _ iﬂ-_w?,zi,f oy
A e et T T \ g = -
Veg s foh Alh = 3x |
, T Do of iomey = bh = Zelex44) = 13K = Diex
(o0 o - Pz ot b&LﬁlN\Dd? “':} = ,_g_._,g:__d} o s

<o 44 w}m s Yo 42f

A
. . _ ) Friangf
4 P = H16© \E@ Peroa o Moa = Knea o @(CL% ~ P c‘» Vo el
Yo o ) o . )
_ e = (W 4% ) - (X +bX
A - - .
. : B8R~ Vaig —Vsm I gsgo 54y \Sgal\a = VD 2 ;o
= bt - B
Observable indicators
Observable indicators correspond to level
correspond to level Alelclple
AlB|c|p|E
cr.3{40 (32|24 (16| 8|0 Cr3|40|32|24116) 6 | 0
A ' ¢ . : ; cr.2 |40 |32 |-24°|16 |8~ | 0

Ms. Greco will be able to fill ) 5 more full jars zr_i 20 32124016 8 |0 The simplified algebraic expression that represents the area ot lal e ol

T, Cr.5
of tomato sauce using her new pot compared to her crs|20|1|12] 840 of the blue section of the flag is -

2

current pot. /O3 v+ 122 K cm?.
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Show all your work.

- . Vo " o
(3\o) oo sors 6y V3, r}/go! % 92 73

S
2 715 73,5/ 7.
S U Qa2 o8
g/ ow ,
0% i The missing, scoce rwat balvro[: [CESEE FHI#E

s E
b

oz busdosTd +FF 4804562 TS - oo g\ Tnerprfiue
0L EBoeet T 4o -

g v T

Naduo's w?.ifng??gcg«- 0.5

G- b[35)+ 2B0) 6(A0) = 6(78 )+ 3(62) + U{%’Q}
5= OO % 4oo £ TUS b 4+ 13k + Bl = A4WO

_ e
=z = 24D = 0.6 L
74 0udin 30 ,
M/Yes, Nadia will be admitted to Fairserve Observable indicators
Dance Academy. correspond to level
AlB|lciplE
cr.al40f32|224]16|8 |0
D No, Nadia will not be admitted to Fairserve Cr.2|40 32124 |16] 8 | 0
Dance Academy. g:g ol1el12la ! 40
Justification: \ .
- ; e
Onctova bt onlu o mos {EL”() L BB
Culonia. 2 hon 1;)6%9\’(?1:3 LTINS {?O«? >80>
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